1.

£k el H A 0 8719 aABC S 914

x9] & Fotolel,



ohe 1H 3 o] A meFol
o gl=82 =asy it gsas

u, £19] ol& otz

B o’

iy e

=
Pl

flo oS



3. H=2ABCO HE 0= & o, 1x O] 277

@ 10° @ 15° @ 20° @ 25° ® 30°



4. 2 IFA H 0 = AABC 9] 9Alo|t},
/BOC = 140°Y ujj, /BACE L&t}

A

140°

Q



S 284 & 17F aABC 9] ALY o zx = ( )° ol

( ) Stofl EojZr guke -5 Jotofat,
A
32
i 35°
B~ C
23



o

™~

land

if]
[mt

oju
G

mJ

o

Xy

min

o
o

J

—_
fife)

2t 1712 9] A

)

© A1A

Jet,
© 1% 9e et




7. o2 293 22 27423 ABC oA HIH AC o] SH2 M o]
/ACB = 36° € W] ZAMB 9] 327]=?

A

B 36 ™\

O 62° @ 64° @ 68° @ 70° ® 72°



8. o= IHAA A I7H A4S WAL o, x 9] 2717

A

40°

Q

@® 20° @ 30° ® 40° @ 50° ® 60°



o2 2HA H 1 & aABC 9] WAlolth aAABC 9] 59| Zol7}
40cm ©]11 AABC 2] Ho]7} 60cm? & wf, Y7 Qo] vtz & 2] Zo]=?

A

@D 1lcm @ 2cm ® 3cm @ 4cm ® 5cm



10. oh5 T3 Zo] AZH7tE ABC O] 4ol H 0Y W, AB+AC =

12cm o™ ZABC 9] 327]&%?

A
\

O \

@® 10°
@ 40°

® 30°

® ©
w8
4
%0,
o)



11. o8 JdeA A 1+= AB = 6ecm , BC = 8cm , /B = 90° Q1 A ZH:k
7ty ABC 9] WAdo|t}. o] Azt o] A el vhx]52] Zo]7} 2cm
o mjf, B o] Ho]=?

@ 9cm @ 10cm ® 1lcm @ 12cm ® 13cm



12, o3 J2"elA A 1+ 8428 ABC 9 YiAlelth. AB//ID, AC//IE

o] AB = 1lem ¥ ], AIDE 9] E8|2] Zo]=?

11 11
® —=cm @ —=cm @ 1llcm

@ 12cm ® 13cm



13. o5 2™l A 0 9= 42 aABC 9 43 YA el /BOC =
100° ©]al, ZA =a°, /BIC = b° &t2L & W], b —a O] & F5Fof2h

A




